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1. (a) Explain the3 phenomenom of transient
(b) A 20mF capacitor is connected in series with a 50 kn resistor and thecircuit is 

connected
to a 20v, d.c. supply. Determine.
(i) the initialy value of the current flowing
(ii) the time constant of the circuit
(iii) the value of the current one second after connection
(iv) the value of the capacitor voltage two seconds after connection, and
(v) the time after connection when the resist or voltage is 15v.

2. (a) With a sketches explain discharging of a capacitor 
(b) At a frequency of 1.5KHZ the open-circuit impedance of length of Transmission 

line is 800     -50oW and the short-circuit impedance is 413    - 20oW . 
Determine the characteristic impedance of the line at this frequency.

3. (a) Derive the equation for the decay of current in an inductive circuit.
(b) A transmission line has the following primary constgant resistance R = 

15W/loopKm, 
inductance    = 3.4 mH/loopkm; conductance G  = 3ms/km and capacitane C  = 

10mf/km. Determine the characteristic impedance of the line when frequency 
is 2kHz.

4. (a) Explain transient in reactive circuits
(b) Define general termination impedance at a line 
(c) The voltage at the input and the output of a transmission line properly terminated 

in its characteristic impedance are 8.0v and 2.0v rms respectively. Dertermine 
the output 

voltage if the length ofthe line is doubled.

5. (a) Define the following terms
(i) Transmission line (ii) The secondary line constants

(b) A transmission line has an 4mH/loop km inductance and a capacitance of 
0.004mf/km. 

Determine for frequency of operation of 1KHZ.
(i) Phase delay (ii) Wave length on line
(iii) Velocity of propagation (m/s) of the signal.

6. (a) Explain the concept of complex frequency
(b) Explain Bode plots and Locus.
(c) A parallel- wire air-spaced transmission line operating at 1910Hz has a phase 

shift of 0.05 rad/km. Determine.
(i) the wave length on the line (ii) the speed of transmission of a 

signal.


	Page 1

